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11 .54 AcHievemesT Test -~ 2023 - 2024

Time : 1,30 Hrs Maths Marks : 100 '
1, kst A and 15 e sibasts of 1he universal set )W, the set of neturel numbers. Then A'V[(ANB)UB’] fs
(15 A @ ; =y : (%) #
2 M A = 13) (1 (A 7 C)) = B and i3 (1 C) = 2, then nis) Is ]
(16 A 2) & 3 %) 16
B. Per nori-ernghy aeis i snd 513, i A< B then (A~ 13) 1) (1B » A) Is equsl 10 v
L MAnm LA ik BB (4) none of these,
B, Let B2 s the uindvernal relstion on m set 7 with more then one element. Then R is
(1) rest reflesive : (2] Bt wyrranetric (%) transitive {4) none of the sbove
55, Thes rengs of the furealon s—'— % : -
(1) (~on, =1y s (£, o) 2) (-1, %) @) 1-1,5) ) o1 U 4, ).
[ The ruls f(z) = »7 j& s VAjection i the domsin end the co-domsin ere given by
(1) 52,10 f 2) B, (9 ) Z) 0~ ., R (4) [0,2), |9,7)
7. If tha function f : (=%, 3§ ~ 8 defined by {(x] = »7 is oo, then B is
(1) |=9, 9§ (,J) ) 24 12) V=%, 3} 4) 10, 9]
i, Lot £ 5 11 ~+ J2 be defined by () = 1 ~ {2}, Then t‘hv'r-ngﬁadfu
(1) ¥ 2 (19 B (=3 , ) =, 1] f
D, Mven thet »,y snd b are res] numbers x < y,b > 09, then
(1) »b =< yts (2) »b > yb (3) b = yb =k
O, The sclution set of the {ollvwing Inergaality fz— 1) 2= |z —~ 2|'is ;
(1) [0.7] T @ 12e) 2} (9.2) (4) (—,2)
1. The velus of log, = is
(1) =2 ) -2 3) ~4 (4) —2
12, The valus of log, blog, clog, a is . g ‘
1) 2 ' 21 za ' (4) 4 N
13, Find a ao that the sum end product of the rosts of the equation 2%* 4 (a — Z)x + 3a — 5 = 0 are equal is
L (¢ ) 2 . @0 - , %) 4
4. The nurmber of solutions of 5% 4 |z~ 1] == 1 is i ‘
(1) 1 @ 22 43’

£, If 5 snd 2 sre the toois of x° 4 g2 4 ¢ = 0 and 3,3-:carrmotx’+dx+h-o,uwnthzmuotm
r wequstion x* 4 5% 4 b = 0 s1re

(1) 1,2 ' 2) ~1.,3 2) 2,1 (4) -1,2

06 If» andborot}mrutrwmofmnmuatymn’—kx-i—,c-o unnuwdhw;oebctwemthepomu (a,0) and
a’;mh

(1) VIF=32 (2) AT =E (@) YAz =W () VE=E: '
17 -2 = | :
(13 vZ v /3 12)2 ) 4
18; ‘The mexinmire veliue of 48in? x + Boos® x4 sin 54 cos 7 Is )
(1) 4+ 2 (2847 . (2) 9 44
19, o8 3 4 2" 4 €M T 4 oo ¥ £OB 1TV 2 ;
I £ L T ) 1 (@) -1 (4) 89 - ‘
20. Which of the following Is not true?
(1) #40s 6 e’ (2) cos 6 me— 1 (2) tan 6 = 25 (4) seco =2
21, i tan o mnd tan f sare the roosts of 2° v ez + b = 0, ttwn-:%‘;—“%h equal to
(1t 5 : (@) ~% (4) -2
222, 11 1(65) » |sin 6 4 joos 6,6 & |, then ((6) is in the intervel
(1) [0.z) 2) [1,VZ) (2) {12} 4) (01 -
2%, I sina 4 cos o = b, then sin Za (s squsl to
(b1, it b= /2 (:e;m-t b2 (B ~1,fbz1 (4)b%2—1,ifb=Z
i, I s £s ARG, §f . (1) sin ~Hn :hn 50 (ii) #in Asin BsinC 2 0 thcﬁ
(1) B2oth (i) wrd (i) are !nnx (2) Only (1) is truse
's) Only (i) is true . (4] Heither (i nor (If) is true,

. In an examination thicre are thires multiple choles questions and each question has 5 cholcee Number of
ways in which s student csn fafl 1o get wll answer correct is

(1) 126 (2) 124 (3) €4 (4) 63
126, ‘The number of & digit mambers sll diglts of which are odd is
(1) 28 ) (7R (2) 5~ (4) 625,

11 Maths Page - 1

) _ _ CamScanner
Kindly send me your answer keys to us - padasalai.net@gmail.com .


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www. TrbTnpsc.com
D7. The product of r consecutive positive integers is divisible by

(1)r! @ -1t (3) (r+ 1) (4) r.
D8. There are 10 points in a plane and 4 of them are collinear. The number of straight lines joining
any two points is )

(1) 45 (2) 40 . -(3) 39 (4)38.
29. Number of- sxdes of a polygon having 44 d:agonals is ---ee- :
(1) 4 (2) 4 - , (3) 11, ot (4) 22
30. In 2°Cy: "C3 =11:1 then n is _ . ok
s (2) 6 ’ (3) 11 4)7 :
31. The number of ways of choosmg 5 cdrds out of a deck of. 52 cards wl'uch include at least one king is.
S L) 52Cs 35 (2) *8cs : (3) 52Cs + 8cs (4) 5%Cs — “Cs-
32.14+3+4+5+7+--+17isequal to -~ ) '
1 i1 (2) 81 ° - (@) 71 (4) 61
33. The coeflicient of x® in (2 + 2x)'% is N 3 :
(1) *°C¢ ; (2) 2¢ ] (3) ce2¢ (4) 19¢s2™.
34 If a is the arithmetic mean and g is the geometric mean of two numbers, then
(l)a<g (2a=zg - : B)a=g - (4)a>g.
2 1 1 1 i s 3 .
835. The sef:;ue‘nce b v, rev, Tov, reve, ST form an o : !
. (1) AP (2) GP (3) HP . (4) AGP.
36. The remainder when 3815 is divided by 13 is Fla o)
12 . (21 (3)11 (4) 5
" B7. The n™ term of the sequence 1,2,4,7,11, - is
(1) n® 4 3n? +2n (2) n® — 3n% + 3n (3) Mot (a2t
38. The sumup ton terms of the series VZ + V8 + VIB + V3Z + - is .
(1) e . 22n(n+1) . xR @) 1.
39. The coefficient of xs in the series eT2* is x: i 4 :
2 3 -4 } 3 4
13 : 3 ‘ @ )
3 . : .
40. The value oil——(z) +3 (z) G) + s I . ‘ ‘
(mog () , (m-hg@) " @2 (3) - (ﬂ—hz()
- 41. The equation of the 1ocus of the point whose distance from y-ax.is is half the distance from origin is
(1)x*+3y*=0.  (2)x* —3y2=0 (3)3x=+y =10 W (4)3x2 —y2=0
42. If the point (8, — 5) lies on the locus % —-’-:- = k, then the value of k is .
[ (mo ‘ L@ L @2 NETEE 43
FS. ‘The slope of the line ‘which makes an: angle 4-5' with t_he line 3x —y=—5are
(ni-—1 : (2)—-—2 [3)1— . 00} (4)2__ ’
p4. The lntercepts of the perpendicular blscctor of the line segment joining (‘1 2) and (3,4) thh coordxnate axes
are . N . 3
(1)5,—5 (2) 5.5 N B)' B3 (4)5—4
HS. Equation of the straight line perpendicular to the hne X—y+5=0, through the pomt of intersection the -
axis and the given line. d
()x—y—=5=0 (2)x+y—-5=0 (3)X+y+s—o ) (4)x+y+10—0
6. The lme (p +29)x+ (p — 3q)y = p — q for Qlﬁercnt values of p and q passes through the point
) 2.2 2) (2.2 . @G5 @
A7. The length of L from the origin to the line X s % =1,is '
S mF @gs - (@R (4)__
. A8. If one of the lines given by 6x? — v+ 4cy? = 0 is 3x + 4y = 0, then ¢ equa.ls e
(1)-3 - -2) = . (3) 3 - G ey
9. Ifay =2@i—2) and A= [a] . is - :

oo _ | i | :
"l 7. ‘(2)[; =27 i ‘1] i
: [—l ] v o el e[

NN~
————

50. "‘A-:[_ll }AJ,t.henforwhatva.lueofk_.A’%D?" _ e .A L 3 ' R

(1)-0. (2) £1 @) -1 : 41
1 -1y a
51-11'A=[2 _1]uB,=[b ]and (A+B)’=A’+B‘ then the values of a and b are
(Ha=4b=1 (2)3=1,bm=4 (B)a=0.b=4 @a=2b=4
52. If A is a square matrix, then which of the following is not symmetric?
(1) A+ AT (2) AAT i i, (3) ATA . (4) A — AT
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3. The value of x , for which the matrix A = [ 24% zml (s aingular

(19 (2) 8 . 3)7 ‘ 4) 6
4. If the points (x, ~ 2) (5 2),(8,8) arc collinear, then x Is equal to
(1) =3 Sy ! @1 (4) 3
J=x =6 3
35. A root of the equation 3~-x 3 |=01ls
3 3 =6-x
(1) 6 . (2)3 (3)0 : (4) =6
, a 2b 2c it ot
56. Ifa» bb,csatisfy |3 b c¢|=0,then abc=
4 ] b L ¢ .
(latb+c (2)0 SaH “(3) b? (4) ab + be
57. 1% +2B and 33 4 mb nre parallel, then the value of m is e
ma (2 ‘ (3) 6 LT :
58. If A = 314 2] + k and the po-ltlon vector of B is | 4 3] = &, then the position vector A is :
(1) 414 2] + K (@) 41+ 5] (3) 41 (4) =41
59. One of the dlagonals of parallclogram ABCD with @ and b as adjacent sides isd + b. The other dlagonal BD is
' 1 F '
()E=0 (2)b-1 3)340b (4) 22
6O, 1f%,5,2 are the position vectors of three collinear points, then which of the following is true?
(1)i=b+? (2)Zd=b+2 (B)b=t+1 (4) A+b+2E=0
61. If Al 4+ 2A] + 22k is a unit vector, then the value of A is ’
¢ 1
(1) Co@s, (33 3
2. The valuc of 0 ¢ (O.-;) for which the vectors i = (sin 0)] + (cos 0) and b = | — V3] + 2k are pcrpendiculur, is
equal to (1) = (2% 1 (3) (4) "
53, If (1,2,4) and (2, — 3A — 3) are the initlal and terminal points of the vector | + 5] — 7l7: then the value of A is
equal to
mi: (2) = % ‘(3‘) -2 4) 2
Ba, fdesl+f+rhk, D=2l x]+k,@ul-T+rdkandd (b xT) = 70, then x is equal to
(s (2)7 . (3) 26 (4) 10
6S. UMz or (1) 2 (2) 1. : ' (3) =2 (4)0
66. na.m (P55 '.'.'.’.') s e () o ' (3) o 1
67 1My ——-‘1_ ':,‘- ()1 (2) 0 R L 1T S 2
68 Hmulx) = (1) 2 WP £)) Pk (3) does not exist  (4) 0
69, lm,u/e 225552210 (1) VZ (@) 7¢ @1 (4) 2
70, lim,p £2:51 = (1) 1 2) e ' : @1 (4) 0
71. At x = — the function f(x) = E-'-'—’-l is
(1) cuntlnuou- (2) dhcontlnuou- (3) differentiable (4) non-zero
72. Let' f be n contlnuou- function on [2,5]. If f takes only rational values for all x and r(3) = 12, then (4.5) is
' equal to (1) 28 (2) 12 3 17s (a) fes2=1
73. Ify = ((x* + 2) and ((3) = 5, then & at x = 1 Is p
(1)s (2) 25 . : (3) 15 (4) 10
T4, lr;r = mx + ¢ and £(0) = [ (0) = 1, then (2) in "
(mnr (2) 2 (3)3 (4)-3
75. If the derlvative of (ax — 5)03' nt x = 0 Is =13, then the value of a Is
ns (2)—2 : 3)5 (4) 2
76, The differential coorﬁclent of log,e x With respect to log, 10 s
(1 (2) = (1010 %) ™ (loge 10)" - (4) =
77.1fy = u{y'}-'-, then -;'E in
; () g+ (2 —5+y @) -F-5 (4)—.:',4-;’,
T8 (X)) = [;:‘_"1 x:::: :fz" then (2) is - : »
(1) o 2)1 (3) 2 (4) does not exist
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¥ ?l ‘ "'" 3
744, n!or)u[' snu1 numntx-#, () Is
i orwr w3 : : :
113 =1 o (4) doew Nt sxist
43, Thes m:mbqr o golnts in B jn which the £urieAlon 10x) m [ = 1| 4 |x = B 4 sin x is vict differentisiile, is
{13 9 2} 2 : (+ 0 M 1) 4
E‘ «
(TS PR | 4 Igdu - k(}‘) # ¢, ther the valise of K is
(1) log 3 (2) ~dog ) ~ gty 4 s
Pz ]é-‘éﬁx i ‘
{1 jum»#c R 4 8 L2 R (7] 5, umé-r 4 (%) {,» tan» 4 & -
83, | Gy on ‘ '
(1Y =+ e Z % 5}'4—1, 4.3);’14-1; M)-:;w,c
4 Lﬁ Jeon? ’ 4
“,’:{%w”r 1224 e : V 3) ‘e.:“fl.' 4 £ (4]»,-% ¥

5. f ﬁ;}gflum" w7 i

(1) can s s b’ pv ¢ D) et a B g (3) =1at1 2 ¥ 4 2 4 ¢

o0, f [iin 1a

M= s in? sz e (2) b wo ST 4 ¢ () Vg | 4 ST 72 = «/’1‘""’34¢¢4’~ﬁ""7’41¢:£x4”[+¢
r:’/ ]”,J-ﬁ

0 s (S v v 2 e b (2 e 0o i [
4, [win of 7ddn i%
(1) 28 = of vtem ofi % gins of Sy % £ (2) 20 =~ fiirass sf 7 = &b of 73 4 €
£%) Z{ = of rahts of 7 = vk of 5) 4 € () 20 ofhsins of i 4 cem A7) % €

159, A srisreboet in uh-wul frenn the aet {3,1,2,.,,20%, The pfrﬂnmmy thst 1hes selaiimd rurmber s divisibin by 3 or
A bu

l’il , M; u,l. ] ‘4,1

?’1, Fowes Harns drn :)vma frenmn VA conmabitng vwalvs Werns of wihileh toor sre guw;un, then the pmbﬂmuy

11 !furf wt Soant torm A the ftair (& defective

PomE 234 . Y 5

gﬂ - o Lettmy is talmpy 81 panidenn Tearn thin fatters of vhe wirrd Aﬁ@lﬂ’l’hlﬂ" snd snciher ls-tur In Lulemys mt random
Troprri Vb Vassern oA $him wemd FTHIISTIC , The provability (het the selssted Istieres sre the seme is
(55 % 2 L [k 5

?2, fo Yotsgy cxmbasinin £ groars, 7 white, mnd 77 Vsl biulis, if Y b-ll- sre draw/ mmulun-trmcly, then the -

é m«;mumy thist bnhi men aitlarsnt cobinus iy

| MG il : ur-};’; , T

5/4. A rniatrilomy 7 3% Ehirinsiri sk rbthm Lresrri ﬂu fiswt 1040 ristssrsl numbqu, Lat A Ve this evernt of migmbers which

| wtintion ZLLL P g g, then Vi) is

{4) -a'ftu-vun"‘xéc

:
Jor

Y Y ) 653 %) 971 : (44 0.76
DA, 3 twres ewsriia f sl 15 mrs wiicks that PLA) = 1—; wod PUA LY ) = ;, then VIA M 1B) s ; ‘
| 71 S umd 4 , ' ;
W8, A nre Cnfitin BIY wwdf Ihia grrepnmldlivy of gptiving uy, lenst ¥ hinads is
! % % . w {; )ik
590, 3 15 8% #o 0utittdAr saasFi Thimd i & f, Yhian Khis preabAlity thist uasdrmtic squution 27 4 Zivk 4 4 1 » 0 has
 pewd peeds e .
4 @i BT i

(77 . M A8/ 15 15 0 s wihalirgywms, ot BB 4 AT 4 CB 3 €13 15 wopusd 100

(5) 1B 5 1TT; ¢ Ay ARLL () ABIS ()0

%, The ntirler of 16lations on a st comalning 3 element 15 (159 (2) B1 | (3) 512 (4)’ 1024

(o7, “L it wtnbiok o Vole B0 Moigys V% Yirgsu 4% < Vinnyy 27 + baggzy 1 In
K] ) % g (7

(4) 2
Sers. 1 van A w4, thwm SIS :
o ; ‘5”_ k i 1 ‘21‘ ,”“’lﬁ
H)[.ﬁ ey 2y % 1 {4,,/ :
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